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; 100kN/mM##8Z % — -~ = —|3mzBZzB| — ~ — — — | 100kN/mM%Z#BZ % — -~ — — |3m%i#BZ % -~ — — —
Zzhn s 100|000 ~ 492 61.35 | =nLS | 000 ~ 492|173 9.27 Zhs 1.00 | 6,00 ~ 5.20 61.35 | #hLS | 5,00 ~ 520 |1.73 9.27
2 100kN/mM#%#8Z % — -~ = —|3mZEBZB| — ~ — — — | 100kN/mM%Z#8Z % — -~ — — |3m%i#BZ % -~ — — —
Zhnst 1.00 | 000 ~ 543 67.77 | EnLS | 000 ~ 543 1.99 10.63 ZThLLst 1.00 | 6,00 ~ 6.70 67.77 | =S | 500 ~ 6.70 | 1.99 10.63
3 100kN/mM#%# 8% % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZE#B 25 — -~ — — |3m%#B2% -~ — — —
zh st 1.00 | 000 ~ 543 67.77 | NS | 000 ~ 543 1.99 10.63 ZThLLst 1.00 | 6,00 ~ 6.70 67.77 | =S | 500 ~ 6.70 | 1.99 10.63
4 100kN/mM#%#BZ % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZ#B 25 — -~ — — |3m%#B2% -~ — — —
Zzhnst 1.00 | 000 ~ 543 67.70 | TN | 000 ~ 543 1.99 10.64 ZThLLst 1.00 | 6,00 ~ 6.70 67.70 | =S | 500 ~ 6.70 | 1.99 10.64
5 100kN/mM#%#BZ % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZ#B 25 — -~ — — |3m%#B2% -~ — — —
zhnst 1.00 | 0.00 ~ 6.54 8247 | EnLS | 000 ~ 654 1.99 10.65 zh st 1.00 | 5.00 ~ 8.80 82.47 | #hst | 5.00 ~ 880 | 1.99 10.65
6 100kN/mM#%#BZ % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZ# 25 — -~ — — |3m%#B2% -~ — — —
Zzhnst — — ~ — —| 2 st - ~ — — — zh st — — ~ — — | Zh st — ~ — — —
100kN/mM#%# 8% % ~ ImEHBZD ~ 100kN/mM#E#BZ % ~ 3mEHBAS ~
zhnst ~ zhnLs ~ zhst ~ zhLst ~
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zhnst ~ zhnLs ~ zhst ~ zhLst ~
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zhnst ~ zhnLs ~ zhst ~ zhLst ~
100kN/m##BZ % ~ ImEHEAZDL ~ 100kN/m%#BZ % ~ ImEEZD ~
zhnst ~ zhnLs ~ zhst ~ zhLs ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ LS ~ Th Lot ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ LS ~ ThLLst ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
ZThLLS ~ LS ~ ThLlst ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh LS ~ Zh LS ~ ZnList ~ Zh LS ~
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